=2 5 =1V
THFHERRER (K01)
T4 2fEER TEELRIRA - EF ER%ETE (2) HERX Sy TH TR - R
TS5y JH O B
TRy - TFE - FER - M5 JRA% =<¥iva & (FiR) HE (5E) B R i 22
JE O B
= 1
BT
= 1
PEHI T
= 1
el T W, fE T AT ), R
VL, PEGE AR L, Jifi T2 E 5, 000m3
A m3 1, 600
- m S &+ Catl- ERiRY LETe)
BN
m3 1, 600
AR+ T
BE
= 1
BEAA (E18) X+ i T8 B 0 2. bmA i
m3 20
AR (FEEE) B 1 W Tl B 0 2. bmEA B4, OmAyH
m3 70
PRI (S8E) R+ fiti THE 2 4. omEh_E
m3 290
THFEk CBR=12, Jx RRI£E20cmbL T
AL
m3 510
SN
HiE
= 1

=N

m




TN E

=._/\
1\
1= S DN

fhze (R01)

T4 2 flirR  FEEBRIRGR ERGETE (2) HERX Sy TH TR - R
TEXS JH O B
4 o N O R JRA% =<¥iva e (gD HE (5E) B R i 22
BEA (E88) X+ it T8 B - 2. SmA il
m3 60
BRI (FEEE) B 1 i THE 2 0 2. bmbk_ 4. OmATis
m3 50
BRI (FEEE) B 1 i LhE B 4. omPA B
m3 160
A Bk CBR=12, g KRI£E20embL T
AL
m3 350
AR+ T
b9
= 1
AR (FEEE) B 1 i LI B 2 2. bl
m3 100
A Bk CBR=12, fx KRIEE20embL T
AL
m3 130
AR+ T
iR 1
= 1
AR (FEEE) B 1 i LI B 2 2. bl
Fii skt
m3 70
THFEk CBR=12, Jx RRI£E20cmbL T
AL
m3 90
12977 e
= 1
9 - THE Y I




T

i fEae (AN01)

THE4 | R21ER MERKR - EN ERERETE (2) FEXIy TH TR - R
TS5y EK KR
TEX Sy - TR - FRB - A5 Hikg BN & (FiR) & (&) BB i 22
RS+ Jie T B 4. omLA |
m3 2, 500
Ty VEZER Gr i L =27)
Mii
m3 2,200
THrEk CBR=12, I KKife20emPl T
AL
m3 700
HERE T
= 1
(==
= 1
RHEY R R
m3 120
MR L +&:
1.0=W<4.0
m3 30
HWREL +&:
W<1. 0
m3 40
T E
m2 60
T Hp S E R TE: W CEMW ERIRY HETe)
B PN
m3 120
THrEk CBR=12, i KKife20emPl T
[ YN
m3 90
5= TR IR




T

B hER (A01)

TE4 2fEER TEELRIRA - EF ER%ETE (2) HERX Sy TH TR - R
TS5y JH O B
TEX Sy - TR - FRB - A5 Hikg =<¥iva & (FiR) & (&) BB i 22
ST FTHERE T (&4 BT
15 HERE
= 1
Ewake: 4 HERE L) & IR A 2mAR, AE
18-8-40, BBorN, W/C<60% av) )= MK 1 18-8-40 (E1F)
m3 33
T T HERE T
T
= 1
av)y=p
18-8-40, BBorN, W/C <60%
m3 0.1
T TN 0D FHE - — R TR
m2 1
BEAKHE &Y T
= 1
[(==an
= 1
Z37i) T8
m3 150
MR L EREERR
W<1. 0
m3 90
e FEE
m2 120
T m S & b Catl- ERiR 0 LETe)
BN E
m3 150
- TR IR




T

IEI\’(L\\

fhze (R01)

EAJ‘/‘\
T4 | R27EER EERRR ERf ERZBETHE (2) FEX TH TR - R
THEXS JH O B
TRy - TFE - FER - M5 JRA% =<¥iva e (gD HE (5E) B R i 22
A Bk CBR=12, g KRI£E20cmbL T
AL
m3 120
A& T
= 1
7" VAR ANURLE URRRI T 3% 1 B300*H300
m 245
BT
= 1
Bfhav ) - AHE IR D300
m 13
Bfhav ) - AHE I 1 D600
m 19
KMy T
= 1
BUGFT B K BRI BRI RR BT AL, 2V ) -
83 /K it NI 1 18-8-25 (i dF) , YA RIMEZEAH I
18-8-25, BBorN, W/C=<60% MEL & I 2
AT T /KEE T
= 1
BUGFT K av) ) - 18-8-25 (E1F)
15 URK
18-8-25, BBorN, W/C=<60% m 10
BT K IR (AR D354 1800, N (
35 UK HEHEAMHOEE) 1670, 207 -
18-8-25, BBorN, W/C<60% 118-8-25 (F&iH7) m 12

=N

pi




Sl 5 N = P/
J—Eﬁ"éﬁi/\f*\

fhze (R01)

TE4 | R2MER MERKE #-EF ERGREITE (2) FEX TH TR - R
THEXS JH O B
TRy - TFE - FER - M5 JRA% =<¥iva e (gD HE (5E) B R i 22
BUGFT K av) ) - MK 1 18-8-25 (i 1F)
15 LAK
18-8-25, BBorN, W/C=<60% m 10
BT K a9 )~ A& 1 18-8-25 (k)
45 L AK
18-8-25, BBorN, W/C=<60% m 27
BT K ) )~ A& 1 24-12-25 (20) (& dF)
IRZZN[
24-12-25(20), BBorN, W/C<55% m 12
SR E T
= 1
S EE L T
= 1
A LE R A A SEERRRER 17 A7 7V MERERR, Sl RS
:5em
m2 446
DO
m3 22
ALY
m3 22
29 )~ EE LS uEE EIEW X oy SRR E, TIEX 4y
B T
m3 92
S B L T
HfhiE
= 1
A LE R A A EEERRRER 7 A7 7V MERERR, Sl RS
‘5em
m2 4

=N

pi




T

i fEae (AN01)

T4 | R2FEE fMERNER - EF ER%ETEHE (2) HERX Sy TH TR - R
THEX 5y EK KR
TEX Sy - TR - FRB - A5 Hikg =<¥iva & (FiR) & (&) BB i 22
AR
m3 0.2
ALY
m3 0.2
LS
= 1
PEAEEY T
= 1
A& T
= 1
AT 2y ) - A% 1 18-8-25(20) (F&%F)
18-8-25(2), BBorN, W/C=60%
m 47
B () U 5 :500cm, & & :575¢m
m 196
KMV
= 1
7" VA A ME I PRI ¢ 400
& 10
BUGFT B AT IR LKk - BTSRRI : BUG T, 20 )) -
45U MEKE 1 18-8-25 (7 dF) , JEHIME AT
18-8-25 (7&47) , BBorN, W/C=60% MR & I 2
HBURFT DI e - AR : BUGFTAS, 2V ) -
SR I MELRK 1 18-8-25 (7)) , ETHIVE MR IE
18-8-25 (7&147) , BBorN, W/C=60% MEL & I 2
7= TR IR




TN E

iz (AN01)

=S8

TH4 2THER  MESBRRA - EY ERWRTE (2) HEX Sy TE TR - L
THEXSy GIES
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
= LTS RS (T-25 1)
4RI
500%800 e 2
= LS R (T-25 1)
5 ST
400%500 e 2
&AL
= 1
&AL
= 1
HRHGEBE R ny) 7" ny ) Bk BAE (180/205 X 250 X 600)
m 232
HSEEERT vy 7" my ) KK CRE (150 X 150 X 600)
m 233
(o 2
= 1
AR REAE T
= 1
A AN VA BT = A A7 B Gp-Bp-2B FyFih, fi
THUE: 20mEA_F100mATH, B BRED 4
IE: ML m 28
Rz L
= 1
AZIEE P
= 1
_g- 8




1.5

/A

=S8

fhze (R01)

TH4 | R2MHER (EER EF ERGRTH (2) HEX Sy TE TR - L
THEXSy GIES
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
SR AR A
A H 10
[ERENIE: X
= 1
B ER
= 1
M@kt (G L)
= 1
ol T
= 1
Bl E P
= 1
R 7N ]
= 1
— A B
= 1
TAfiA&
= 1
THA B K Ol 5 T4 2 Bl
= 1
TH&EGF
= 1
_g - L R




